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&S A=a— HA4Z B+ (BiA) : M
I EHiTH i 500
2 EHhTH X 570
3 EHTH TN 640
4 54 (GB) i 320
5 54 (GB) X 380
6 54 GB) =P 440
7 SCh (A) i 320
8 S5Ch (4) X 380
q SCh (A) S TN 440
10 ZI1£GR) i 320
Il ZECR) X 380
12 ZI1£GR) =P 440
13 ZIE A i 320
14 Z1£(C4) X 380
15 ZIE A =P 440
16 5k 120
17 I=fF TN 80
18 IZBEEFE Y 80
19 I=EAYIY 80

20 I=7L>FF—Rb 100
21 I= Ay 80
blcFyY
22 (BB A : 23 % — X%) 220
23 blcFyY 220
(BB HEFEE%)
24 KTHR 130
=54 R (V) > THE)
25 REKTHER 150
26 KTHR 130
ZIL—F4 R (flildEH)
27 RBEIKTHIR 150
28 KTHR 130
=T 4R (Jr4¥3A89t)
29 REKTHR 150
30 KTHR 130
ZIL—F 4R (RS &NRY =)
31 REKTHR 150
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